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Part_I/W1_I 
General Studies /lt4.iire4 .31%1 

1. SMILE Scheme of support for marginlized 
peoples for livelil d and enterprise was 
launched on 

(a) February, 202Z. 

(b) August, 2021 

(c) August, 2023 

EIfE(d) April, 2023 

• Which one of the following statements is 
NOT correct m the context of Money Bill 

(a) It can be introduced only on the 
recommendation of President 

(b) Money Bill can be introduced only in 
the House of People at the centre. 

(c) President has power to return the 
Money Bill forthe reconsideration of 
the House. .Th 

(d) The second châi'ber of the Parliament 
has to give itsr.  ommendation within 
14 days. 

What is the theme of National Science Day, 
2024? 

,a) Women in Scienc  

\(b) Indigenous Techrologies for Viksit 
Bharat 

(c) Future of STtImpact on education 
skill and work 

(d) None of the aoye 

4. Who among the following was the author 

of the 'Tohfa-e-Akbarshibj'? 

(a) Badayuni 

(b) Abul Fazal 

(c) Nizamuddin 

1. - r 

(b) 31l1, 2021 

(c) 3Pri, 203 

(d) 3I1, 2023 

2. 

(a) t 3ii*ii 

1II iT *lcbdl I 

(b) 1i  ci c1*iT 

3T1 ici I 

(d)4ic'1cfl'  

ikiiftftt 

___ I1 
3. U1 i1.1H 2024 ir it  'ff*? 

(a)Iin 

(b) P41 

(c) 13T1. T : fT 3fI 

4. iRiRci 'Ih i 

 T ? 

(a) gifl 

(b) ai '*M 

(c) Iiiq1i 

*2* 

tJ 

(c) kIvçil ii 1iiqi t *iq1 t 

t 



5. 

IR 41TiI i 

1. T1$cti1 

2. 31T 2025k 2030 1i 
3ii*s vbJI I 

(a)12cf E1 

(c) 1 ft 1 3 1 t 2 

(d) ci 2 

6. 

1. 'fii' i 1j  RT 

4cIç 1* Iiclii I 

2. 'i'rii   i4fT1t i 

 r 

(a)i2 (b)11 

(c) 1 1 2 

7. 116 

I 1 iii t uH'i % 

    

(a) 48 

(c) 55 (d) 30 

8. 1Rr   — 1fl, , * 
*Iq 1R14   4l  4I4b11 

fT RiTi 'IHI "licH 

(a) *ib W?IT1 

(b) ncv1c1I [4b1.I 

(d)  1rui i1tu 

IJSEO—01 

Consider the following statements with 
reference to the Sixteenth Finance 
Commission. 

1. Arvind Panagariya pointed its 
Chairman. 

2 The Commission will make 
recommendations for the period 
2025 — 2030. 

Select the correct answer from the code 
given below. 

Code: 

(a) Both 1 and 2 

(c) Neither 1 nor 2 

(d) Only 2 

6. Consider the following statements with 
reference to APEDA. 
1. The full form of 'APEDA' is Agricultural 

!jJ	 and Processed Food Products Export 
Development Authority. 

2. The Headquarter of APEDA' is located 
at Mumbai 

Select the correct answer from the code 
given below. 

(a) Only 2 (b) Oth 1 

(c) Neither 1 nor 2 

7. The sum of two numbers is 16 and 8 times 
of their difference is equal to their sum. 
The product of these numbers is 
(a) 48 
(c) 55 d)i3O 

8. By what name is the; programme that 

connects India's four major cities — Delhi, 
Mumbai, Chennai and Koliata by road 
known? 

(a) Sadak Bharatam 

(b) Bharatmala Program 

(d) North South Corrido: 

*3* 



(c) Three years 

(d) Six years El 

(b)54 

(c)3 

(d) 6 

9. The number of amino acid residues present 

in insulin 

(a) 101 

(c) 251 

10. Which one of the following pairs is NOT 

correctly matched? 
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. r1.1 3mm 4t i icii t 

(a) 101 

(c) 251 

10. 1ii 

() 

(a) 1kTuTN%1 

(b)  

(c) Rvi — ifl'i 

(d) Avantirashtr — ljjjaiiui 

11. The sum of agésoffive children born at the 

intervals of three years each is fifty years 

What is the age of the youngest bil? 

12. National Enironmenta11 Engineering 

Research Institute is located at 

(a) Lucknow 

(b) New De1Ej) 

(d) Kolkata 

12. kll1 IIcR1JT 3Tf111 31NFE '&1+H 

(a) itsi4 

(b)I?fl 

(d) 1vIc1I 

*4* 

(d) 201 

(b) Five years 

El 

- 

ii. ft —'flr 4 -4 uii 

I  

(State) 

(a) Dikshinapatba 

(b) Uttarapatlia 

(Capital) 

— SuvarnagiLri 

— Taxila 

(d) 201 



13. Given below are two statements, one is 

labelled as Assertioii (A) and the other as 

Reason (R). 

Assertion (A) Kerala has a monopoly 

in the production of natural rubber m 

India. 

Reason (R) : Warm and humid climate is 

good for rubber plants. 

Select the correct answer using the code 

givenbelow. 

Code: 

(a) Both (A) and (R) are true and (R) is 

correct explanatibn' of (A) 

(b) Both (A) and (R) are true, but (R)is 

not correct explanation of (A) 

(c) (A) is false, but (R)is true 

(d) (A) is true, but (R)is false 

14. The State that first implemented the 

Panchayati Raj in 1959 were 

(a) Rajasthan and Karnataka 

(c) Rajasthan and Tari1 Nadu 

(d) Ancibra Pradesh aiid Gujarat 

15. Dr. Bhimrao Ambedkar International 
Sport Stadium is situated in which of the 

following district of Uttar Pradesh? 

(a) Varanasi 

(b) Gorakhpur 

(c) Mathura 
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13.  (A) 

çitq,Kul R)qPTlT I 

31P-11(A): 1R1* 11J1c4, dc'4'1 

u'q r 

q'u (R): %Th Ri 1r 'ii 

ifl 
ft 1  c T 'it 

4*1 11i I 

(a)(A) R) 4i TT1 (R), (A) 

 *cii 

(b) (A) R)c4ir'i, 1fI (R),(A)t 

°1Ns1 cb41i El 

(c)(A)llciclt I1 (R)ici El 

(d) (A) 'ic' cu1I (R) i ç  

14. fv1 1959 S1T3T iticfl 

? 

(a) 11%11i 3 c(,.jq, 

(1 :  r  

(c) Tr%11R 31 dtIc1'1I 

(d) 31%T ii Th iici 

15. fl31 34cb al cIkkrl1  

*5* 



(b) I II 

(c) III TV 

(d) TV III 

18. '1 cb4. 

El 

16. Consider the following statements with 
reference to agro-climate zones of 
Uttar Pradesh. 
1 Uttar Pradesh is divided mto nine 

agro-climate zones.. 
2 The districts of Azamgarh Ghazipur 

and Su1tanpur comes under the 
North-Eastern plain zone. 

Select the correct rnswer from the code 
given below. 
Code: 
(a) Both 1 and 2 
(c) Neither 1 nor 2 (d)Only 2 

17. Match List - I with List-il and select the 
correct rnswer from the code given below 
the lists. 

List - II 

(Philosophy) (Founder) 

A. Nyay Darshan I. Rishi Kanad 

B. Vaishesliik Darshaiiil. Rishi Gautam 

C Sankhya Darshan :ffl Patanjali 

D. Yoga Darshan JV. Rishi Kapil 

Code: 

A 

(b)I 

(c)ffl 

(d) TV 

18. Substances used for bringing down 
temperature in high fever are called 

(b) Pyretics 

(c) Antiseptics 

(d) Antibiotics 
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17. ft-it kfl -il I1d if 

List-I 

II 

Iv 
ifi 

D 

*6* 



(b) (A) %1T (R) i 3fl (R), (A) 

°1I'(slI q,&cll 

(c)  

(ci) (A) t, iJ (R) I1c1 

- 

(b) s'i i%iT j;u. 

20. 

- 

USEO—01 

19. Given below are two statements, one is 
labelled as Assertion (A) and the other 
as Reason (R) In the context of these 
statements, select the correct answer from 
the code mentioned below 

Assertion (A): The Prime Minister in 
Indian political. system is very powerful. 

Reason (R) : There is Parliamentary 
system of Government in India. 

Code: 

(a) Both (A) a  (R) are true, but (R) is 
not correct explanation of (A) 

b) Both (A) arfd (R) are true and (R) is 
correct explanation of (A)  

(c) (A) is false, but (IR) is true 

(d) (A) is true, but (R) is false 

20. Which of the fbl]owing pair is NOT correctly 

matched'? 

(a Arab Desert — Ruwala 

(b) Sweden and Finland 

(c) Alaska 

(d) Borneo 

19. fl 3Tf%1r(A) 

3bRUI R)ci1iT I? 

ftR (A): 1Rcfl4 i'i-fl1 ru 

)41H1 fl 3li i1ii1l I 

iuu (R) : IR1 'il'i I 

(a) (A) IT (R) ci  , (R), (A) 
 cqeqJ q,(Ij 

— Lapps 

— Koryak 

— Punan 

21 Which one of the following pwii'  
(Institutions — Cities) is NOT correctly 
matched'? 

(Institutions) (Cities) 

(a) Central Institute of — Nagpur 
Cotton Research 

(b) Central Institute for — Jaipur ( 
Arid Horticulture 

21. i1iRci 4i   (TFr—t) 

() () 

(a) i*i 31%1R— .iii 

(c) -k 1p1cg) — 

(c) Central Agrciforestry 
Research lüLstitute  

— Jhansi 

(ci) Central Plaiitation — Kasargod 
Crops Resçaich Institute  

(d) -i I4U 41 Ii1 — 

*7* 



(Tribe) 

(a) Kuki 

. (State) 

Mampur 

— Tripura (c) Chakma 

— 1.lIUI 

22. 

(iiii1) 

(a) cRl 

(Institutions) 

(a) Public Service 
Commission 

(b) Supreme Court 
f hidi. 

(c) Finance Ccmmission 
of India  

(d) Election Commission 
of India 

(d) siii — 3uIIi(i 

23. 1ir 

*iiT[1II 'IIc1I' ? 

(a)1F-1PT (b) 31fi3H 

(d) 1riir 

24. 

( 

(a) cbT3l*'F 

(b) IT1 i1 cj1 

..q  iicii 

(d) icir 1iI*r 

1T 

— 324 

— Article 282 

— Article 324 

25 The perimeters of two similar triangles are 
30 cm and 20 ciii respectively. If the length 
of one side of the first triangle is 12 cm, 
then find the length of the correspondmg 

El El side of another triangle (in cm) 

(b) 12 

26. Where is Sariska Wildlife Sanctuary and 

National Park loc 

(a)Kanpur 

(c) Jiisa1mer (d) Agra 

25. •I 1l+?t b11I: 30 '.rft. 

20ift. Ic Tt 
12 .Tft•  , ct T 

 c11t 

(a) 10 (b) 12 

(c) 14 

26. *i1*q,i c*flc a i ' 1H 
1 -TI ? 

(a) *i'& 

(c) '*iik 

(a) 10 

(c) 14 

*8* 

22. Which one of the following pairs is NOT 

correctly matched? 

(d) Daflas — Arunachal Pradesh 

23 Which of the following gas is used to 

prevent the chis from getting oxidised? 

El .El(a) Lithium  F'  (b) Oxygen 

El (c) Nitrogen (d) Helium 

24. Which one of the following pairs is NOT 
correct? 

IJSEO—01 

(Articles) 
— Article 315 

— Article 124 

(b) Aiwar 

(d) 31im 



(Site of the 
Revolt of 1857) 

(a) Barrackpur 

(b) Meerut 

(Date of Starting 
Revolt) 

— 29March 1857 

— lOMay 1857 

(d) ii'i- — 41857 

(b) Watt 

(d) Joule 

27. Consider the following statements about 

Fraser RiverofCanada. 

1 Fraser River flows m the Eastern part 

of Canada. 

2. Fraser River falls in to Pacific Ocean 

after its 136() km long route. 

Select the correct answer from the following 

code. 

Code: 

(b) Only 1 is c6nect 

(c) Neither 1 n.cr 2 is correct 

(d) Both 1 and 2 are correct 

29. Which one of the following is NOT correctly 
matched 9  

(Sports Person) (Sports) 

a) Lakshya Sen — Badminton 

(b) Murali Sreeshiuikar — Long Jump 

(c) Bhavneesh — Shooting 
Mendirat( 

30. Which one of the following is NOT correctly 
matched? 

(c) Jhansi — 10 March 

(d) Lucknow — 4 June 1857 

USEO—01 

27. iii kT r14-1r1RIcl 5%1Rt 

1. ii i  

2. 'P1WT 1360 1c4l  ci  i4 

k R Il-c1 1l*ilK iii 'iicfl t I 

  rK I 

29. ici? 

(Ri4) (T) 

30. 1iiRi - ci k—T 1 I 

(1857 (s d) 

— 2911857 

— 101857 

(c) 51I — 10 .0-v1 1857 

*9* 

(a) 

(b)  

28. The commercial unit of electrical energy is 



33 How many types of Sodae Ghair Tabae are 
there? 

(b)12 

(d)06 

34. What is the mahiyat of 'RASATJT'? 

(b) Gum (Gond) 

USEO—01 

Part_II/fl1T_ll 
Unani / i'fl 

31. When it is reimmended for removal of 
uterine fibroidduring pregnancy? 

(a) Durmg caesarean section 

(b) In pregnancy 

(c) Should not be removed 

(d) In the early puerperium 

32 Topical apphcaton of fine powdered, hquid 

preparation on inflammed area is called 

(a) Tila 

(b) Batti 

(d) None of the above 

(c) Khisand,a (d) Namak 

35. Iii case of hanging, ligature mark is an 
example of 

(a) Graze abrasion 

(b) Contusion 

(c) Patterned bruise 

(d) Pressureabrasion 

36. Gaozaban is hrmfu1 for which organ? 

(b) Kabid 

(c) Eye (d) Qaib  

31. fhj 
c1td 1q*i.0 i1 ii 

(a) RLjL1i i cki.i 

(b)TIf1T 

(d) Oq'i i 

32. 1iiin 

(a) 1tii 

(b)r1 

(d) 4ctc1 q; ;f 

33. *ic fFft3n? 

(b) 

(c) (d) : 

34. 'k1'lT ? 

(b)Tii 

(d) 

35. •fuiii ('k1l) i:iiR ct1R1 F-  (ii1' 
ii4) 1i-i 1Tq,i qlui 

(a)'1 ('1
E11 

(b)  

(c) tH/i 

36. ici'iH qi- 3j7f i1L Hcj4 t 

(c) 3 

* 10 * 



Active massage anc1ssive massagej 

(b) Khashin and Amlas 

(c) Istedad and Istirda'\) 

(d) None of the above 

37. Which are two basic types of Dalak 
(massage)? 

t 

39. Causative organism of shaheeqa is 

(a) Cornybacterium 

(b) Bordetella pertussiS 

(c) Varicella Zoster 

(d) R.N.A. virus 

38. Normal Foetal heart rate ranges from 

(a) 40-100/minute 

LiLEl 
70-80/minute 

(d) 90- 100/minute 

40. The drugs which is Rffected by hararat of 
body and produces a new kind of Kaiflyat 
which is against the Kaifiyat and Mizaj of 
body Ni 

(a) Dawa-e-Moatadil 

(b) Dawa-e-Gair Moata 

(c) Both (a) and (b) 

(d) None of the above 

41. What is the average weight of placenta at 
term? 

(b) 200 gm 

(c) 300 gm 

(d) 1000 gm 

USEO-01 

37 cict i4I4 .i-t? 

(b) &ii'r a 

(c) 

(d) R 

38. II11fr1Ftf 

'3HII ? 

(a) 40-100/11RZ 

(b) 70-80/1H 

(d) 90- 100IfflZ 

39. Il T Tkc 3I1ft 

(a)  

(c) ci1*flii lk.A 

(d) c4j 

40. 1iii4I  

3F R )d 1 't T11 

fii'i 'i Riri t, icfl ' 

(a) T 41ci1i 

(c) (a) 3 (b) ci 

41. 1 iii- iki T 3ikii.i 

ii.n 1ii t 

(b) 200 gin 

(c) 300 gin 

(d) 1000 gin 

ic ifl çic, 



(a). Influenza 

46 Diabetes (Ziyabetus) is a major cause of 

(b) Rheumatic heart disease 

JE1 
E1 

(b) iiki'i 11- 9( 

(c) it 

(d) lT1 1::&.ii I9k 

42. Kala-azar is tra*sniitted to man by the 
biteof 

Female phlebotsanr\  
(b) Female anaphelesmosquito 

(c) Male pblebotoniii'sandfly 

(d) Female aedes mosquito 

43. Arsenic (Sammulfar) poisoning causes all, 
except 

(a) Alopecia 

(b) Earn drop pigmetation 

(d) Palmar hyperkeratosis 

44. How many types of quwa-e-advia are there? 

(b) 01 

45. Where does the kh sia or measles rash 

typically appears fivst? 

(a) Chest 

(b*) Behind the ears 

(c) Legs 

. (d) Back 

tWI 
(d) Zika virus disease 

47 Kamela is harmful for 

(a) Heart (b) Lungs 

(c) Brain 

USEO—01 

42. R1I-3IR I4ki cw. t iii ? 

311 (k1NR) Iietici 1::i-.i  ij 

ifffkcti  

(a) iii i is.ii 

(b) i itt 4?.i'.i 

44. 3Ti 3cii ii41 t? 
(a) 02 (b) 01 

(c)04 El 

45. ii 311 lci'14. *1CI cb5T 'iljIk 

(a) icfl 

(c) i 1T 

(d) 4I 

46. i1 (id1) i.i 

(a) tj-''ii 

(b) ici1t 

47. q,ij  * I 

(a) 'c' (b) fti 

PT 

(a) 02 

(c) 04 

1 

* 12 * 



48. Typhoid fever is in India. 

(a) Sporadic 

(b) Epidemic 

(d) Pandemic 

49. Which of the following drug is an 
example of Bada1 e areeb? 

(c) Both (a) and)(d) None of these 

(b) *iiit iii.fl 

(c)!1Il fttr 

(d) ii i.jic.fl tj 

(b) Subaga madrnii and Suhaga masnuyi 

(c) Suhaga madani-ard Raai 

(d) Suhaga madam and Seer 
E1 - 

50. Obesity (Saman-e-Mufrat) is classified as 

(a) BMT of 18.5-25 

(b) BMI of 40 or above 

c 1of 30 or abö've 

(d) BME of 25 

51 Contraction stress test is used to detect 

(b) Placenta Praevia 

(c) Cord prolapse 

(d) Hydrainrnos 

52 A httle wetness of stool is related to which 
of the following? 

Sudde (b) Soe Hazm 

53. Which of the followiig drugs are used as 
Muqavvi Tehal? 

(a) ljrinab and jliao 

(b) Ushq and 

(c) Banafsha and Thao 

(d) None of the abOve 

USEO—01 

48. ITr t  

(a) (rniq) 

(b) iiiiiO (1Z.I) 

) 

(d)  

49. -Tç  qk 

iiii ? 

50 t ciff ç  iii 

(a).t1. 18.5-25 

by.ir. a. 40T3Tfi 

c) 11 3lT4 30T3T1i 

25 

51. bTIctH 1 ?. i in 1i 

'itit ' ? 

a) 4kci  

(b) iiki 11ii 

(c)  iT' 

(d)  

52. 1i-.i - T Ijrfl1T '1I k1c W-b 

11ct tsii 

(b) 

(d)  

53. iR b1 lc1 ? 

(a) .-ii 

(c) *i'- 

(d) .'icr 

* 13 * 



55. Duration of Mumzij Sauda Khalis dawa is 

(a) 05-12 days 

(b) 03— 05 days 

(c) 40-60 days 

• 58. Which drug is contrinthcated in 
"Warm-e-Gurda"? 

58. -TRTT*? 

54. Intake of which drug can increase the 

chances of Asthma? . 

(a) Corticosteroid 

(c) B2 Agonist 

(d) Anticolinergic  

USEO—01 

54. -ft T   t  

(a)  

b) 

(c)2l1I* 

(d) Ikfl.iflcb 

55. 1r1 flI 

*ii 'I1L ? 

(a) 05-121k1 

(b) 03-05 

(c) 40-60 

      

      
 

  

56. Which of the following drug is used as a 

corrective for Jund Bedstar 9  

56. iIHi1Rsici T * q1.i-i '-4 Ik 

(b) Kani 

(c) Kafoor 

(d)' None of the above 

57. How does Turbud act? -. 

(a) Bazariya Taseer 

(b) Bazariya Talyeen 

(c) Bazariya Tajzeeb 

(b) cfl 

(c)  

(d)4.i1 

57.  I t 
(a) iikii cli*fl4. 

(b) iiRu ciii 

(c) i'tIii *fl 

(b) Thkhmiyat, 

(c)Luabebal,idana 

(d) Tukhme khayari 

* 14*. 
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(a) Prolonged tbid stage 

(b) Prolonged snd stage 

(c) Morbid Adheient placenta 

59. Whooping cough (pertussis) is also known 
as the 

(a) Cough of 90flays 

(b) Cough of 50dys 

64. Which degree (danjaat) of drug is known 
as advia-e-sammi;? 

(a) Darja Doyam(II degree) 

(b) DaijaAwwáL(I degree) 

c) D. aChah u Si de: ee. 

(d) Darja SoyRm (Ill degree) 

* 15 * 

(c) Couh of 1OOda s 

(d) Cough of 20dys 

60. 'Inversion of uterus' more commonly 

results from 

d) Mismanagement of third stag; 

61. Which is the mizaj of khilte dam from 
the following? 

(a) Band Yabis•; • Band Ratab 

(c) Han Yabis 

62. Hijama is contraindicated in 

(a) Asthma (b) Facial paralysis 

(c) Headache 

63. In Amnaze Hadda, Boal-e-Raqeeq is a 
Daleel of 

(c) Both (a) and(b) 

(d) None of these 

59. 

(a) 90 11 t ifft 

(b)501ii4 

(d) 201 11 

60. ''j*li 3 i' 3iiiicfl i: 

(a)is%t* 

(b)ilii~'i 

(c) i.ilA1.s 

61. fP1 RsiiI iT Ti'i qi-Tt? 

(a)ii1 (b) 1kr 

(cYRiII*1  

62. Pb1 11c1 1iiii b4ii 1RRT ? 

63. 3111 iqt 11 Iti 1ic.'ic1 

cii t 

(a)  

(c) (a) 31 (b) 1.i1 

(d)R.i1

64. 1i 't T 3i1i 14fl 

(a) i1 

(b)  



66. Which is the eonditio of boal in 
Humma-e-Ruba? 
(a) Boal-e-Ahmar Qi1 
(b) Boal-e-Ahmar Raqiq 

Boal-e-Ab 'az 

67 Which of the following drugs is an example 
of Taseer Shabeeh Eiilliya? 

(a) Advia Musikhinà 

Advia Mubrida 

(d) Advia Mujaffifa 

68. Mantoux test isreadifler 

(b) 48 hours 

(c) 24 hours (d) 96 hours 

69. Pawaq' is also calleds 

(a) Jasa 

(c) Qai 

70. Psos sign is found positive in which 
disease? 
(a) Cholecystitis 

(b) Tasaub 

(c) Pancreatitis 

(d) Choledocolithjasis 

• 71. Tn which condition Dark Brown amniotic 
fluid is found? 

(a) Post maturity 

(b) Foetal distress 

(c) Accidental Haeninha 

I.U.D. Untrauterine death) 

66. HI T ' •t R1cI  

(a) 3T 1 *fl 

(b)3i 

(c)  

67. I1  

(d) iii n1i 

68. 4jqj 1 TU1 fi ,iii W iicti 

(b) 48 

(d) 96 

* 16 * 

65. Which organ is Pinkish grey in colour? 

(a) Uterus (k!) Vagina 

(c) Fallopian tube 
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(a) 1 

(c) 111i'i  

65. 

(c) 24E1U 



72. What is the substitute (Badal) of Mastagi 

in Taqwiat-e-Medaa Jigar? 

(a) Ushna Q) Haleela 

,
c) Izkhar mak d) Samagh arabi 

73. Consider the followi g statements with 
reference to menstruation: 

I. It is the cyclic physiologic uterine 
bleeding due to shedding of 
endometrium. 

II Its duration is ab)ut 4-5 days 

Ill The average amont of blood is 45 ml 

Select the correct swer from the code 
given below. 

Codes: 

(a) Only II is correct 

(b) Only I is correct 

(c) I and ifi are corrct 

\(d) I and II are corrct 

74. In which of the followi. g set, the medicinal 
components are more than nutritional 
components? 

(a) Fish, Baqlah 

(b) Egg, Fish 

(d) C.c pea, Khuicfah 

75. Which is the least 
from the following 

(a) Cartilage 

(c) Hair 

76. Amal-e-Tayer is also known as 

(a) Amal-e-Tatheer5 

(b) Amal-e-Baza1 

(c) Tkmeed 
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(b) 11T 

(d) "i+j 

72. bi1 r i   ifl 

(a) ii 

74. i4 qII@1c1 Tr .# I iici ft ' 

(a) i*.'11, i'ci 

(b) 3T, IIgfl 

(d) RT, 

75. 

(a) i'' (b) 

(c) iii 

76. 3T  1R1RT1T* 

(a) 3TIT c1c1I 

(b) 31 i 

(c) cI 4 1g 

part of Azae Yabisa 

*17* 



77. In children, which type of Nabz is found? 

(a)Saree wa Mutawatii 

(b) Sahir wa Bati 

(c) Sagheer wa Sulb 

(d) Azeem wa Qavi 

78. The principal and earliest symptom of 
haemorrhoids (piles) is 

(a) Mucous Discharge 

(b)Pam 

(c) Bleedin 

(d) Constipation 4 

79. Chirchita Khar is obtained by 

(b) Tabloor 

80. Early sign of death iS 

(a) Insensibility and loss of voluntary 
power 

(b) Cessation of respiration and circulation 

(c'). Putvfw1i-rn 

(d) Pallor and loss of elasticity of skin 

81. During pain in 'RenalCalculi'venesection 
is done from 

(c) Thti 

82. Volume of Amniotic fluid is found 

maximum at which week? 

(b) 32 weeks 

(c) 40 weeks 

(d) 34 weeks 
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77. tRT i)icItft? 

a)cic1I1R 
 %  

78. r 4SI 3 %T11 rivr 

(a)  

(b) 

79. Tdi iii  iii 

(a) idi (I,) i 

(c) 

80. 

(a) a ig'i1kii, a1    t  

(b) t  

(c) i. -t 

81.  

(b) lv1 

(c) sc1t (d) qci 

82.  

'iicfl? 

(b) 32  

(c) 40 

(d) 34 '.i'1 

(a) TTh1ee1 

(c) Tabakh 

(b) Kefal 

(d)Akha1 
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(b) ' q3 

85. 'Rvl.fl' ii 1Z'ii'i WT? 

(a) ii$1 b1  

(c)Tr4 

83. Which of the following drug is an example 

(c) Tarpine F(d) Murmnki 

84. Haematometra isseen in 

(a) Dysmenorrhoea 

(b) AmenoiThoea 

(c) Hypomenorrhoea 

d) Cryptomenorrjioea 

85. What is the mizajóf 'Daarchini'? 

(a) Garm1  Khushi ;(b) Said1  Khushk3  

(c) Garm Tar 

86. Who presented first the Nazriyae Akhlat 
from the following ? 

(b) Abu Sehai Masèehi 

(c) Ahie Akseer 

(d) Dr. Jan Tetlar&otlandi 

87. The third degree haemorrhoid is usually 
be treated with 

(a) Sc1erotherapy 

(b) Banding ligation 

(c) Cryosurgery 

(d) Haemorrhoidctcmy 

88. Which digestive juice secretion is regulated 

by nervous mechanism? 

(b) Bile 

(c) Gastric juice 

(d) Succus entericus 
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83.  

I1M '? 

(a)1fli (b) 

(c) ii.'fl (d) 

84. fki ii iIicfl ? 

(a) I1H14.kn 

(b) 4kOu 

(c) ilfH&qi 

86. I-i +t1kii1 3iiii t 4c1 T q  cflcll 
cbl.1 1T ? 

(b)3cii 

(c) 3T 31bflk 

(d) 1. ii it 

87. frft 44.Ti mi iI1.icfl4. 

(a)  

(b) '-.Ti iiuii.i 

(c) stli)'i'31Ll 

88. I*i jjii ii i 1 1ii 3T€ 

bft11Lt? 

I 

of pure resin? 

(a) Hilteet 
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90. iiltHi1dT? 

(a)ii 1ir  

11 T  

(c)slI'11 

(d) iiit ii 

89. The process of making powder of dry 
(medicine) is called 

(h) Sehaq 

(d). Bard 

90. What is the maliiyat-óf Javitri? 

(a) Jaifal ke fruits ka seed 

(c) Root of jaifal plant 

(d) Bark of jaifal plat 

91. The average amount of blood loss during 
menstruation is 

(d) 45m1 

_____ (b)  25m1 

92. If stroke volume is 80 mlTheat and heart 

rate is 60 beats/mmute then cardiac 

output will be 

14 L/minute 

J(b) 48L/minute 

(c)'4.8 ljniinute 

(d) 20 L/n,inute 

93. Riyazat of Luhar, Baxhii, lJhobi is  11ed as 

(a) Riyazate Arzia 

(b) Riyazate Khalisa 

(c) Riyazate Kaseera 

(d) Riyazate Qaleela 

94 Embryomc bilaminaidic develops in 

whichweek?, 

(a) Fourth week (h) Third week 

(c) Sixth week (d) Fifth week 
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89.  3igiii  iitr 3I 

cb 

(a) i1ki 

(c) ii 

91. 4lO   1ft' 

(b) 25Thftfl 

(d) 45  Ikk 

92. i1 "qi 80 (80 t1k) 3if1 

z  -i 60 1k*i   t, t 

bIr1q, 31l in 

(a) 14c4kT11Z.t 

(b) 1H 

(d) 20  

93. cR, k1I'1d  

41Icfl * I 

(b)  

(c) it'i1 fki 

(d) 1iii cfli 

94. 13M1 IiiHR 1 4j— 

i'icfl ? 

(a)i 

(c)  

(a) Tasweel 

(c) NRkhal 

*20 * 

(c) 55 ml 

(d)  

(c) 55 iill kk 

(d)  



(a) 06 

95. How many types of Baighame Ghir Tabae 

are there according to Qim? 

(b)€ 

(d) 

96. Commonest site of 'Namla-Shafvia' is 

(c) 4 

100.  t i.fl  

(b)1 

(d) 3 (c) 4 

100. How many types of Jarali 

(b) 

(d) 3 

(a) Penis 

(c) Nerve Root 

(d) Hands 

97. Which of the following d±ug related to 

aromatic plant? 
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95. tc1Il M t 

iii 

(b)t 

(d) 

96. '.iiiii ki4I1l' i*i '*'i ? 

(c)31 

(d) 'T%i t 

97.  1i  ift  1 i 5T 

C 

98. The gulkand which is piea ed by honey 
is called as 

(a) Gulkand Aftabi 

(c) Gulkand Mahtabi 

(d) Gulkand Aabi 

99. Paronychia is a infection! 

(a) Middle ear 

(b) External ear 

(c) Nasal bridge 

(d) Tissue folds around nàil 

o 
0 
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(b) Toot 

(c) Haleela 

(d) None of the above 

(b)  

(c)  

(d) 'iji ql  ii 



104 Rodent ulcer is a kind of 

(a) Tubercular ulcèr 

104. T-3   ? 

(a)  3 

101. The detoxification of Bhang is done by 

(a) Aab Dhatura I 

(c) Aab Badyan 

(d) Aab Namak 

102. Oral Polio Vaccine (OPV) was described by 

103. Average rate of cervical dilatation in 
Primigravida is 

j(a) 2 cm/hour 

(c) 4 cm/hour (d) 3 cm/hour 
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101.   44 

(a)31U# 

) .31N 34'1cupi 

(c)  

(d) 3IT ji.q, 

102. i1R, *fli (L.) r  r, 
Tu  1T Tr ? 

(b)thcb 

(d) i 'iw 

103. ii41 i1ci siiiii i *icii 1i 

()1l.fl 'Idit? 

(a) 2 t4t./i 

(c) 4 t4. /r (d) 3 '.ift. /tjj 

(c) Arterial ulcer 

(d Syphilitic ulcer 

105. Calcitonine hormone is secreted by 

(a) Parathyroid gland 

(c) Thymus gland 

(d) Adrenal gland 

106. Lesargus is which type of Sarsam? 

(b) Sarsam Damvi 

(c) Sarsim Saudavi 

(d) Sarsam Safravi 

(d) 1i a 

105. iI1.i i1ii  w cii *? 

(a) ti1 3r1T 

(c)  

(d) 4l.ii uPi 

106. I11kIk1 i* l*H 'i iwi 

(b) .+&*iiii cl1 

(c) iii 

(d) *i*wi 
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(b) Sslk  

(c) Zakaria Razi (d) Louis Pasteur (c) 'iR'ii 

(a) Sarsam Balghinii 



107. 'Qurs-e-Kaherbaa' is used in 

(a) Zouf-e-Bah 

(b) Sailan-ur-Raham c- 

(d) Shaqeeqa 

108. The causative organism of tetanus is 

(a) Cytomegalovirus 

(b) Corynebacterium diphtheriae 

(c) Clostridium tetani 

(d) Candida oesophagitis 

109. What is the symptom of Busoor Labnia"? 

(b) Red colour of eruption 

(c) Yellow colour eruption 

(d) Black colour eruption) 

110. Which Khilt is Maani Aoonat from the 
following 9  

a) Khilte Dam  

(b) Khilte Safra 

c) Khilte Sauda 

(d) Khilte Baigham 

111. Jawarish is mainly usn 

(a) Amraz-e-Meda1  
A" az-e-Qalb

7:! 
Amraz-e-Riya 

(d) Amraz-e-Dimagh 

112. Normal Glomerular Filtration Rate (Git) is 

(a) 40 mi/minute 

(b) 200 mi/minute 

(c) 1000 mi/minute 
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107. ' cit' T iiii lcii 

(b) 3—l4 

108. 

(a)  

(b) ftt 

((c) 11iii 1~.a.ii( J 
(d) i1n1i 

109. " iitqi"  th' ' 

(b) i#i'ii 

(c) 4)  iTi iii 

(d) ib1'iI 

110. 11i * i—E1t iii Tfl  31R ? 

(a) si1 EIJE3 
(b T r 

(d) Ri iiii 

111. ic1ki i iili sci: 

(b)3WFt  

(c) 3ll1i'i  

(d) 3wr 1Fr 

112. iII-1c1: (GF1) lcii t 
(a) 401 1.1 1, IIH. 

(b) 200 i1:r.1r.  

(c) 1000 3TRI 1i'i 

*23* 



113. Which of the following oil is NOT suitable 
for massage in Irqun..nia? 

(a) Roghan Farfiyun- 

(d) Roghari  Aqarqarha 

114. Meconium stained green liquor is seen in 

(a) Foetal distress 

(b) Rh incompatibffitI 

(c) I U P 

(d) Post maturity 

115. What is the useof 'Habbe Raal'? 

(b) Mulayyin 

(c) Daafe Shaqiqa 

d) Daafe Bukhar 

116. Incubation period of Diphtheria (Khunaqe) 

(bj10 — 14 days 

(c) 10-50 days (d) 3-6 weeks 

117. What is "Binatu1-Lai'? 

(a) Itching at evening 

(b) Itching at morniñg 

(c) Itching at day tin 

(d) Itching at night 

118. 'Reinke's oedema' isof which part? 

esemaofVoc th.s 

(b) Oedema ofLaryni 

(c) Oedema of Trachea 

(d) Oedema of Glottis- 
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113. *cI.1—T1.1 iirii 

(a) 1ut  

(b) ti'i 

(c) tl31iT11 swiJ  
(d) F1 aIg)bkl 

114. i1ii.  fti 

'116. 1.ltr Ti H Lfl14.s 

(b) 10-141 

(c) 10-50 1t (d) 3-6 

117. 'ii—i" 

(a)fl1Fitcfl l.ii 

(c) RT 

118. LJlz'  I if%i)cii% ? 

(a) trsii 3#1i lcfr1 

3TE '1Ik-ct'i 

(c) g 

(d) fi.ii 
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(a) Jigar 

(c) Qaib 

123. Cervical rib may articulate from which of 
the following? 

(a) First thoracic vertebra 

(b) First cervical vertebia 

(d) Seventh cervical vertebra 

124. The main ingredient of 'Habbe Sliifa' is 

(a) Asrol 

(b) Kishneez 

(d) Kahoo 

(b) Meda 

(d) 'T 

119. Urea is secreted in which part of renal 
tubules? 

(a) Distal tubule 

(b) Collecting duct 

(c) Proximal tubule  
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119. U'ii qrii 'li 1I 1JT5T  

(a) fi i 

(b) ci1i s 

(c) i1ti.ci ci 

120. Habbe Kabid Naushadari is used in 

(a) Amraz Qaib 

(b) Amraz Dimagh 

(d) Amraz Riya 

tj 
121. Which of the following is NOT the method 

for the treatment of diabetes? 

El(a) Hypoglycemic medicines 

(b) Diet 

(c) HBAIC p 
(d) Physical activity ediiàtion 

122. Marz-e-Utas Mein Bima iKahan hoti hi?  

120. Jq 4liiç.O 'ir iii cb~ 

(a)1cI  

(b)a11iiiii 

$(c) 3iii rit

(d)31lT 

121. rqk—TI 1'c4R 

(a) iifc  

(b)31TR 

(d) iiORci c1Iw fT9T 

122. tilft ? 

El 

(a) 1.iiik 

(c)  

123. lI-dikci ieTci f 1 ci1g 
*iccfl? 

(a) FIT iY 

(b) T Rt 

rGiEJ 
(d) nc11l 3R TJ 

124. ' iii' i i*i 

(a) iiki 

(b) 1i.fl'i 
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(a) Dam 

(c) Sauda Zd) Balgham (d) iwi 

125. The cause of Faranitus Khalis is 

126. Which of the following is NOT a disease? 

(a) CSOM (b) ASOM 

(c) Koch's Lung (d)Ota 

127. Which spinal nerve is affected in the 

thoracic inlet syndrome ' 

(a) Seventh cervical nerve 

-: •) First thoracic nere,t 

(c) Second thoracic nerve 

(d) Eighth cervical nerve 

128. Zabah Sadriya is related to  
system. 

a) Cardiovascular system 

(b) Respiratory syte.m 

(c) Renal system 

(d) 'Gastrointestinal system 

129. India was certified as polio free country on 

(a) 30th  November2015 

(b) 13thJanuar 1 

(c)  

td) 27th March 2014) 

130. Blood supply of Tonsils supplied by 

(a) Two Arteries 

ive Arteries 

(c) One Artery 

(d) Three Arteres 
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125.  Ii1.i iiir 

126.  

(a) ftL3*. (b) 3T11. 

(c) ,iq*i PT (d) 

127. iTSiq, -k ii-ji  nici r1r 

(a) *iicfl  

(b) cfl iTjii 
RI 

(c)  

(d) 31t  r4 

128. ITT 1ii i 3IT 1*i 

(b) 1il '1'1'1 

(c) Ti'ii1 1iii 

(d)1iT3lT 

129. 

(a) 30 '1l1k 2015 

(b) 13 '*icL1 2011 

(c) 7 31.2016 

130. diI rfl? 

(a) 34Ikl31 

(c) '.' 

d) cfli 1R[ 
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(a) Adults i(b) Children 

c) 31*  

135. i'.tl 1 '31*' ii—m ? 
(a) 31* ct*i.fl (b) 

(d) 31* 31 

131. 'Sufoofe Chutki' mainly given 

(c) Only women :(d) Old age 

132. Which therapy caibe beneficial in pain? 

(a) Murizij 

(b) Mushil 

(d) None of the above 

133. Identify sexuailyansmitted disease 
agent. 

(a Chiam dia traclioma s 
) Clostridium ttath 

(c) Mycobacterium tuberculosis 
(d) Corynebacterium diphtheria 

134. 'Little's Area' is fourd in 

b) Ear 

(c) Lungs (d) Throat 

135. Which 'Arq' is musaffie dum? 

(b) Arq Biranjasif 

(d) ArqAmbar 

138. 11W is found in greatest concentration in 

(a) Urine, cervicata.nd vaginal secretions 

(b) Tears, sahva, breast milk 

(c) Lymph nodes, brain tissue, bone 
marrow cells and skin  

137. Treatment of Su-e-mizaj Qaib har is 

(a) Maushaeer and Roghan Badam 

(b) Dawaul misk and mufarra}i har 

(c) Zafran and Ilaung 

(d) Qurs Kafoor ad Cold Sharbat 
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(a) Nose 

(a) Arq Kasni 

131. 

(a) 'iiii (4.q,) 

(c)ft (d) l 

132. * q'k-4t r1t 4NF-q t iqd) ? 

(a) 

(b)iift1 E1 

133. IcbtrPc1 I 

(b) ii j;ft 

(c)  

(d) 1k*ii ft'%flft1T 

'flfl 

(b)  

(d) 

134. 

(a) R1i 

136. 1.  31T. . *j 311T  '1111 '1R1I 

(a)t, flqii4lf nc 

(b)alk, iii 

(c) iPR -wi, 3T1.1 ii I 
IcblLt1 çccfl 

137.     R**iT 
'i 

(a)  3 1i'i TJ'T 

(b)  

(c) ii'*ui

(d)  



(a) Ambar 

(c) Kishneez 

;(b) Zanjabeel 

(a) i1lkii 

(c)  
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138. f -i1iRci q1i-t -':1'1II'1 
(1i'ici) 'ii*i1fl 

(b)  

(c) t31  

(d) pii 

139. c.1)l4H, 'iiii ? 

(a) Tiii*i 

(b)T -*1k J 
(c) itk ZT 

140. 'IH4 11fb' 1i 4TFT T F%T 'T ' 
(1N11H cII ' ? 

(a) 11T1 

(a) iifl 

(c) 1ci 3ic1Ii 

141. 

143. cTsR1' 

(a) 3T (b) i*1ki 

(c) 1i41i

144. i114. r4fl (q,TiIZiH) * 

(a)  i 

(b) R1?i i 

(c) t4i 
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(d) siit 

(d) 

(b)  

142. il-1rr1 * ifci 11 ? 

138. Which of the following is the principal 
muscle of insprat? 

(a) Diaphragm   

(b) Lungs 

(c) Psoas major 

(d) Trachea 

139. 'Lombard Test' is indicated in 

Glossitis 

1j(b) CA of throat 

(c) Fissure Tongué 

140. Which part of 'Human Brain' is 
concerned with £he regulation of Body 
Temperature? 

(a) Thalamus 

(c) Medulla 

141 The synonym of Asthma is 

(a) Intesabi (b) Husar 

(c)Dibba Atfal 

142. Which of the following is sexually 
transmitted disea  '  
(a) Diphtheria ;(b) Gonorrhoeaj 

(c) Typhoid fever ;(d) Measles 

143. Juz-e-Khas of Ma1Oó'n  Dabeedul Ward is 

144. Peritonsillar abscess is a complication of 

(a) Laryngitis 

(b) Pharyngiti 

(c) Tonsillectomy 

(d) Acute tonsillitis= 



(d) Grains and fish meat 

146. What is the main use of 'Tila Surkh'? 

(a) Mushil 

avvi Wa Mohthike baah 

(c) Mohaihie Auraam. 

(d Mulayym 

(d) 

(b) 'Ui 

(d) bwl'jr 
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145. Th  

:iii t? 

(a) 1 1T i 

(b) r 3k iIi 3T1 'mi 

145. Which of the following is NOT part of 

DASH diet? 

(a) Reducing fat and low fat milk 

(b) High amoimt of fruIts and vegetables 

(c) Ajinomoto .1. 

(d) Z3Ri1 3ft'5T 41ci 

146. '1r1T ' T -j4 4,tH 1c1I I 

(a)iri* 

(c) iiI 3Uq 

(d) iii'i 

147. Ovarian artery is a branch of 

(a) Internal iliac 

(b) Abdominal aorta 

(c) Common thac artery 

(d) External iliac 

148. Kaboos is also known as 

147. iRq.i (ij  ri 

(a) -ki 

(b)iiir 

(c) iiq 3IT 

(d) tct4i 11cb 

148. Trt 

(a) Mania  (b) Jamood 

(d)Sara  

(a) iiijir IIE  (b)9 

(d) m 

149 What is 'Juze Khaas'of Safoof Mohazzil 9  

(a) Naan Khwah (b)Zeera 

(c) Marzanjosh (d)Luk Maghsool 

150. How many ossicles are there in the middle 
ear? 

(a) 4 ________ 
(c) 1 

149. rrr ii' cB? 

(a) iisii 

(c)  

150. 11E 19 1ficbl  

(a) R 

(c) (d2 
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all the pages properly printed or it has any other discrepancy, then you need to approach the 

Invigilator to get another set of Question Booklet Cum Answer-Sheet. 

6. Tn this Question Booklet, all questions are printed in both English and Hindi languages. In case of any 

ambiguity in the question, the English version of the question shall prevail. 

7. Penalty for wrong answers: 

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN 
THE ANSWER SHEET. 

(i) There are four alternatives for the answer to every question. For each question for which 

a wrong answer has been given by the candidate, one-third of the marks assigned to that 
question will be deducted as penalty. 

If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the 
given answers happens to be correct and there will be same penalty as above to that question. 

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty 
for that question. 

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO. 
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Max. Marks: 150 
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